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Anil donated 30 percent of his income to the school and deposited 70 percent of
the remaining in his bank. now If he has Rs 97695, then what is Anil's income?

3{TAIET 31U 3T BT 30 WA= ¥Hd Bl & H < &l © 9UT =AY T 70 Tia=rd 39
S H OH B cdl o | Tic 3d 39 U 9765 3T ©, dl 31fAd &I 3T a1 872

Rs. 45600

Rs. 45500

Rs. 46500

Rs. 46000
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ol s1aM &

The value of the following is

cos 249 + cos 55° + cos 1259 + cos 204° + cos 300°

a) .
b)
c)

d

b | =
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The diagonals of a rhombus are 30 cm and 16 cm. The perimeter of the
rhombus is?

Uh JradHsl o fabul 30 Il &1k 16 4l & | GHAGUS 1 UMY B

58 cm

60 cm

68 cm
4 5 62 cm
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If the side of a square is increased by 16%% of its original value, then find the
percentage change in area of square.

afe fadl @t Yol b1 38D Hel HIH 3 164 % S¢r1 ofidl g, dl ol & &=t §
vfa=rd ulkad- Jd Hifor |

225 %
36 %

335 %

45
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The HCF of two numbers is 23 and the other two factors of their LCM are 29
and 49. The smaller of these number is

&l =13l &1 Hgad Head JHYad (H. 9. U.) 23 § 3R 3P dd9dH JHIdd
(@. 9. 9.) @ al 3G UHGS 29 3R 49 © | 598 I BICT ST ol

667

619

723
45
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If a and B are the roots of the equation 3x? — 7x + 2 = 0, then find the value of a?
+ B2

e a 3R B YHIBRUI3x2 - 7x + 2 =0 D Hd g, dl a2 + B2 P HMH JTd HIo |

35/9

82/9

q 37/9
49/9
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The marked price of an article is 20% more than its cost price .A discount of 20% is

given on the marked price .In this kind of sale ,the seller bears-

U% o] & 3ffhd Jod 39D 54 G U 20% HUF 51 3ifdhd Jed IR T 20% &1 Je &l
Al 21 59 UhR ¥ fah! S+ U= [ddhdl 981 &3dl e-

a loss of 8%
a gain of 4%
a loss of 4%
a loss of 8%
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Prakash wants to sell an watch with 20% profit, but he actually sold at 15% loss
for Rs. 340, At what price he wanted to sell it to earn the 20% profit?

YDA 20% P ¢H YR UD US| dd-1 dlgdl &, dldb- 344 di&kid H 340 298 H 15%
D1 I UR & &A1 1Y UItd e & QT 98 39 g Ted UR a1 d1gdl U1?

Rs. 480

Rs. 320

Rs. 350
5 Rs. 400
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An article costs Rs. 500 and the marked price is mentioned as Rs. 800. What is
the profit % for the seller if he sells and offers a discount of 10% on the marked
price?

Uh 9% 1 Hed 500 39T g AR 3ifdbd e 1800 39U & ¥4 H Icwid
STl g1 Ald 98 d9dl § 3R 3{fdd e WR 10% I §¢ Y& Hdl 6 dl 19
feTq TTH% T gRTI?

g1 7741
dr &

3 gl

22%

10%

20%
5 44%
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The ratio of the area of two triangles is 2 : 3 and ratio of their heightis 3 : 2. The
ratio of their bases is:

&l FAYSI & &%l Dl 3HUld 2 : 3§ 3R 3P] Fdls I -Uld 3: 2 51 3
YR BT 31Ul &:

45 .
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The length and breadth of the parallelogram is 12 cm & 8 cm respectively. And
one of the angle between them is 60° then find the area of the parallelogram.

Uh JHMIIR IqUel ! ddlg 3R dISTs HHRE: 12 JHI 3R 8 JHI g1 3R 34D dd
&1 U DIV 60° &, Al JHMIGR IqUS BT &AHd Td BT |

483

963

7273
45 96
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The area of rectangle is half of the area of square. Area of square is 576 sq.m. If
length of rectangle is 24m. What is the perimeter of a rectangle?

3d BT &FHA, 91 S &FH P 34T 1 9 BT &FHhd 576 99 HI o1 gfe 3mad
DI TS 24 | ©, dl 31Td &1 URATY 91 572

72 m

72 cm

288 m
45 12m
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Mr. Bin starts a business with Rs. 20,000. After 9 months Mr. John joins him with
Rs. 12,000. What will be the ratio of their profit at the end of 2 years?

41 fo 20,000 ¥UL I AT Y= B 6 | 9 HelH b a1 dl Sii- 3= A1y 12,000
UL & ATy AMHA Bl STd | 2 a8 & 3id H 39D A1 DT U FT1 GRTI?

45 .
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If the mean is 15 and the median is 25, find the Mode.

gic {187 15 © SR HIHPT 25 T, Al 95D JTd HISTU?

45

40

.
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If the mean is 15 and the median is 25, find the Mode.

gic {187 15 © SR HIHPT 25 T, Al 95D JTd HISTU?

3 median=mode+2 mean.

45
40

35

45 )
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Which is the largest four digit number, which is fully divisible by 12, 15, 18 and
277
98 IR 3{D| dIcil o dof T HIF-31 g, Sl 12, 15, 18 3R 27 I gula: faHTiord
gl?

9690

9720

9930
4 5 9960
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The perimeter of AABC and APQR are 24 cm and 40 cm respectively and the
length of AB is 5 cm. Find the length of the PQ if AABC ~ APQR.

AABC 3[R APQR &1 URHATT HHT: 24 JHT 3R 40 IH! § 31X AB Pl @dlg 5 TH!
gl PQ @I @45 JTd difold afe AABC ~ APQR § |

25/3 cm

3/25 cm

3 cm
1/3 cm
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sic B AIEIDT T 62

What is the median of the distribution?

87,21, 583,12, 86, 98, 23, 64, 87, 23, 23, 87, 96, 12, 33

.95
. 96

.
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Find the length of longest diagonal if the ratio of length of diagonals of rhombus
s 7 : 11 and area of rhombus is 962.5 square cm?

gfc qHAqHS & [dH Ul DI ddls bl 3HUId 7 : 11 © 3R 39D &Ahd 962.5 47l
Il B, dl JHIGHS & J&3 Ao [dpu] oI dars 1 gRir?

35 cm

45 cm

55 cm
4 5 65 cm
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If area of the circle and square are same, then find the ratio of the radius of the
circle to side of the square.

gfc Uh o 3R 971 DI &A% d JHH o, dd 9o &I B 3R a1 &I Yol & Heq
3{Td I1d HIfS|

V2 : 7

V7 : 11

V31122
\7 1 22
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What is the mean of the first 75 natural numbers?

Ugd 75 UIhldd SRS BT HIS T 572

16

21

.
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On selling 17 Pens at Rs.720, there is a loss equal to the cost price of 5 pens.
The cost price of a pen is:

17 U1 1 720 394 H a9 WX, 5 Ul & Y Yo & aRI6R gl gldl o | Uh U P
T T o

Rs. 45
Rs .65

Rs. 60

4.5 o
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The product of the roots of a quadratic equation is 20 and the sum of its roots is
(-8). What is the quadratic equation?

feeTd GHI®RUI & Hd BT IUEHA 20 § 3R 396 Jd &1 9N (-8) 5| fgdrd
HHIHRUT HIT 52

x? -8x—20

X2+ 20x — 8

X% + 8x + 20
45 X2 + 8x — 20
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